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AREA OF A TRIANGLE

Test Yourself Level 1

1. Find the area of the triangle formed by the following points: 

(2,3) , (3,-1) , (-4,2)

View Text Solution

2. Find the area of the triangle formed by the following points: 

(-2,4) , (10,-2) , (-2,3)

View Text Solution

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_WKPQmPWUbA2O
https://dl.doubtnut.com/l/_0mRgJfXCrmTS


3. Find the area of the quadrilateral formed by the following 

(-1,6), (-3,-9) ,(5,-8) , (3,9)

View Text Solution

4. Find the area of the quadrilateral formed by the following 

(6,2), (10, 16) , (-12,6) , (-4,18)

View Text Solution

5. Show that the following points lie on a straight line. 

( -1,6) , (-10,12),(-16,+16)

View Text Solution

https://dl.doubtnut.com/l/_0mRgJfXCrmTS
https://dl.doubtnut.com/l/_HpTq4ER9kR1I
https://dl.doubtnut.com/l/_jqCsCBBvEIWT
https://dl.doubtnut.com/l/_3SEld2h1lGSK


Test Yourself Level 2

6. Show that the following points lie on a straight line. 

(1,-1),(7,-4) , (-5,2)

View Text Solution

1. The area of the quadrilateral whose vertices are (1,1),(3,4),(5,-2) and (4,-7)

is

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

201 / 2unit2

191 / 2  unit2

19  unit2

171 / 2  unit2

https://dl.doubtnut.com/l/_r9ZWcsi5EBTv
https://dl.doubtnut.com/l/_XBlhrltHYWYs


2. The vertices of a triangle are A(0,0) , B(6,0), and C(0,8) . The area of the

triangle formed by the mid-point of the sides of the triangle ABC as

vertices is

A. 24 

B. 

C. 

D. 

Answer: C

View Text Solution

unit2

12unit2

6  unit2

48unit2

3. the area of the pentagon whose whose vertices are (1,1),(7,21),(7,-3),

(12,2)and (0,-3) is

A. 145

B. 146

https://dl.doubtnut.com/l/_Avw9NSXZ1K2l
https://dl.doubtnut.com/l/_b6LbbmchtK1s


Test Yourself Level 3

C. 175

D. 176

Answer: B

View Text Solution

1. Find the areas of the triangles if the coordinates of vertices are as

follows: 

(a,b+c) , (a,b-c) and (-a,c)

View Text Solution

2. Find the areas of the triangles if the coordinates of vertices are as

follows: 

(a,c+a) , (a,c) and (-a,c,-a)

https://dl.doubtnut.com/l/_b6LbbmchtK1s
https://dl.doubtnut.com/l/_gY1sepUebLfT
https://dl.doubtnut.com/l/_brvpWZQOEJ1M


View Text Solution

3. For what value of x are the points (-3,12) , (7,6) and (x,9) collinear?

View Text Solution

4. Find the relation between x and y if the point (x,y) lies on the straight

line joining (2,-3) and (1,4)

View Text Solution

5. If the area of the triangle formed by the points (1,2),(2,3) and (x,4) is 40

square units, find x.

View Text Solution

https://dl.doubtnut.com/l/_brvpWZQOEJ1M
https://dl.doubtnut.com/l/_LuONwwACS0V3
https://dl.doubtnut.com/l/_cK7jx4JwhgMF
https://dl.doubtnut.com/l/_oyOIAwAsNKIO


6. Find the area of the triangle if the coordinates of vertices are as follow:

View Text Solution

(am2
1, 2am1), (am2

2, 2am2)), and (am2
3, 2am3)

7. Find the area of the triangle if the coordinates of vertices are as follow: 

View Text Solution

(am1m2, a(m1 + m2)), (am2m3, a(m2 + m3)), and (am3m1, a(m3 + m1

8. Find the area of the triangle if the coordinates of vertices are as follow:

View Text Solution

(am1, )(am2, ), and (am3, )
a

m1

a

m2

a

m3

9. For what value of y are points (1,4),(3,y) and (-3,16) collinear?

View Text Solution

https://dl.doubtnut.com/l/_o0FhKf2fsVC7
https://dl.doubtnut.com/l/_EdACyMixQFdy
https://dl.doubtnut.com/l/_jNH0M4zdoyE0
https://dl.doubtnut.com/l/_HZA0OBuKQo3S


10. Find the value of k for which the area formed by the triangle with

vertices (k,2k),(-2,6) and(3,1) is 5 square units.

View Text Solution

11. Find the area of the pentagon whose vertices are A(4,3) ,

B(-5,6),C(-7,2),D(0,-7)and E(3,-6)

View Text Solution

12. Find the lengths of the altitudes of the triangle whose vertices are

A(1,3),B(5,-6) and C(7,-4) ,

View Text Solution

https://dl.doubtnut.com/l/_HZA0OBuKQo3S
https://dl.doubtnut.com/l/_SEUbo594OEaJ
https://dl.doubtnut.com/l/_7ECO1dDCJ9LB
https://dl.doubtnut.com/l/_AIuao8W7iyc4


13. The area of quadrilateral ABCD with A(1,1),B(7,-3) , C(12,2) and D(7,21) as

its vertices is

A. 35 sq. units

B. 65 sq. units

C. 132 sq. units

D. 115 sq. units

Answer: C

View Text Solution

14. If the points A(-2,3) , B(1,2) and C(K,0) are collinear then K=

A. 5

B. 6

C. 7

D. 8

https://dl.doubtnut.com/l/_ePClLtGu3Azs
https://dl.doubtnut.com/l/_Z35FdIKif0jR


Answer: C

View Text Solution

15. If the points A(x,-1) , B(2,1) and C(4,5) are collinear then x=

A. 1

B. 

C. 

D. 

Answer: A

View Text Solution

−2

−4

−5

16. What is the area of the triangle having vertices A(0,4) , B(3,6) ,and

C(-8,-2)?

https://dl.doubtnut.com/l/_Z35FdIKif0jR
https://dl.doubtnut.com/l/_sBQakn2Y5A14
https://dl.doubtnut.com/l/_NV0RMfBuAoiv


A. 

B. 

C. 

D. 

Answer: B

View Text Solution

a2 + b2

a2

b2

a2 + b2 + c2

17. The area of triangle having vertices A(a,b+c) B(a,b,-c) and C(-a,c) where

(a,b,c > 0 ) , is

A. ac

B. 2ac

C. 3ac

D. 4ac

Answer: B

https://dl.doubtnut.com/l/_NV0RMfBuAoiv
https://dl.doubtnut.com/l/_GNF4UVtJteXo


View Text Solution

18. What is the area of triangle having angular points

?

A. 1

B. 2

C. 3

D. 4

Answer: A

View Text Solution

A(a, c + a), B(a, c) and C( − a, c − a)

19. The area of triangle having angular points

 is

A. 

P (acos θ1, bsin θ1), Q(acos θ2, bsin θ2) and R(cos θ3, bsin θ3)

2ab sin sin sin
θ1 − θ2

2

θ2 − θ3

2

θ3 − θ1

2

https://dl.doubtnut.com/l/_GNF4UVtJteXo
https://dl.doubtnut.com/l/_AEl2dJVe54sa
https://dl.doubtnut.com/l/_EfE0n7i97hCQ


B. 

C. 

D. none of these

Answer: A

View Text Solution

2ab sin  (θ1 + θ2)sin(θ2 + θ3)sin (θ3 + θ1)

ab sin sin sin
θ1 − θ2

2

θ2 − θ3

2

θ3 − θ1

2

20. Area of triangle having angular points 

 and 

 is

A. 

B. 

C. 

D. none of these

Answer: C

A[am1m2, (m1 + m2)], B[am2m3, a(m2 + m3)

C[am3m1. a(m3 + m1)]

(m1 − m2)(m2 − m3)(m3 − m1)

a2(m1 − m2)(m2 − m3)(m3 − m1)

a2(m1 − m2)(m2 − m3)(m3 − m1)
1

2

https://dl.doubtnut.com/l/_EfE0n7i97hCQ
https://dl.doubtnut.com/l/_DRYnMIrCVppX


Watch Video Solution

21. The area of quadrilateral coordinates of whose angular points are

A(1,1) , B(3,4) ,C(5,-2) and D(4,-7) is

A. 20

B. 

C. 

D. 

Answer: B

View Text Solution

20
1

2

21

21
1

2

22. The area of quadrilateral the coordinates of whose angular points ,

taken in order

A. 96

https://dl.doubtnut.com/l/_DRYnMIrCVppX
https://dl.doubtnut.com/l/_HqSlebBL6x67
https://dl.doubtnut.com/l/_hl8SCioXpaXu


B. 48

C. 24

D. 12

Answer: A

View Text Solution

23. If  are given Point which of

the following is correct?

A. Points form a triangle having non-zero area

B. Points lie on a circle

C. Points lie on a straight line

D. None of these

Answer: C

Watch Video Solution

P( , 3), Q( − 5, 6) and R( − 8, 8)
−1

2

https://dl.doubtnut.com/l/_hl8SCioXpaXu
https://dl.doubtnut.com/l/_XDgk1TA8TUDN


Olympiad And Ntse Level Exercises

1. Area of triangle formed by the points  ,  and 

 depends upon

A. a

B. b

C. c

D. independent from a,b,and c

Answer: D

Watch Video Solution

A(a, b + c) B(b, c + a)

C(c, a + b)

2. Let A(6,3),B(-3,5) ,C(4,-2) and D(x,3x) be four points, if the ratio area of

 is 1 : 2 then the value of x isΔDBC and ΔABC

https://dl.doubtnut.com/l/_XDgk1TA8TUDN
https://dl.doubtnut.com/l/_l2NmlhRsYJYw
https://dl.doubtnut.com/l/_9TdqRFJqUcvp


A. 

B. 

C. 

D. none of these

Answer: A

View Text Solution

11

8

8

11

3

3. If the points  are

collinear , then x is

A. 

B. 

C. 

D. none of these

Answer: A

(x + 1, 2), (1, x + 2) and ( , )
1

x + 1

2

x + 1

4

0

−4

https://dl.doubtnut.com/l/_9TdqRFJqUcvp
https://dl.doubtnut.com/l/_hsWtfEro7t0r


View Text Solution

4. The locus of P such that area of  is 12 sq. units, where A(2,3) and

B(-4,5) is

A. (x+3y-1) ,(x+3y-23) = 0

B. (x+3y+1) ( x+3y-23) =0

C. (3x+ y-1), (3x+ y-23)=0

D. (3x+ y+1) (3x+ y+23)=0

Answer: B

View Text Solution

ΔPAB

5. If  are the coordinates of three points

then the value of p for which the area of the triangle ABC is minimum is

A. 

A(1, p2), B(0, 1) and C(p, 0)

1

√3

https://dl.doubtnut.com/l/_hsWtfEro7t0r
https://dl.doubtnut.com/l/_IOb3fttoRFGr
https://dl.doubtnut.com/l/_sOUhxyRUgjgT


B. 

C. 

D. none of these

Answer: D

Watch Video Solution

−
1

√3

or −
1

√3

1

√3

6. OPQR is a square with M and N as the middle points of the sides PQ

and QR, respectively. The ratio of the areas of the square and the triangle

OMN is

A. 

B. 

C. 

D. 

Answer: C

4: 1

2: 1

8: 3

4: 3

https://dl.doubtnut.com/l/_sOUhxyRUgjgT
https://dl.doubtnut.com/l/_7GccFJGw6CU9


Watch Video Solution

7. Find the area of quadrilateral whose vertices are `(-4,5) , (0,7), (5,-5) and

(-4-2)

A.  sq. units

B.  sq. units

C.  sq. units

D.  sq. units

Answer: D

Watch Video Solution

54
1

2

56
1

2

58
1

2

60
1

2

8. Four points A(6,3) , B(-3,5) , C(4,-2) and D(x,2x) are given in such a way

that  The values of x is

A. 

=
 Area of ΔDBC

 Area of ΔABC

1

2

5

6

https://dl.doubtnut.com/l/_7GccFJGw6CU9
https://dl.doubtnut.com/l/_hq9JiG6zJDkY
https://dl.doubtnut.com/l/_pONj0AsRm1Or


B. 

C. 

D. 

Answer: C

Watch Video Solution

2

3

11

6

8

3

9. If area of = area of  where O is origin, , 

 and P lies on line  then possible coordinates of P

is/are

A. (1,2)

B. 

C. 

D. 

Answer: C

△ OPB T ri∠OPA A = (6, 0)

B = (0, 4) x + y = 1

( − 2, 3)

(3, − 2)

(3, − 1)

https://dl.doubtnut.com/l/_pONj0AsRm1Or
https://dl.doubtnut.com/l/_jwxMz5q8XcO6


Watch Video Solution

10. The midpoints of the sides of triangle ABC are (-1,-2) , (6,1) and (3,5) .

The are of  is

A. 72 sq. units

B. 73 sq. units

C. 74 sq. units

D. 75 sq. units

Answer: C

View Text Solution

ΔABC

https://dl.doubtnut.com/l/_jwxMz5q8XcO6
https://dl.doubtnut.com/l/_2MDiHJstY8ys

